2.8 Algebraic Proofs

Geometry

_Directions: Solve each equation. Show all your steps and write a justification for each step.

) —(a+10)- =3 2) t+6.5=3t-1.3

entsS ReaSons

‘Statemenis | ReaSONS Stodern

)5 5 Lia¥ini=-3 1) Given D)+ 4 .S= 3%-13 D 6iven
2') %’Q +2 =-3 2) Distnbutive Prop. L) 522t -1.3 1) Suot. prgp =

3) 5a= -5 3) Suet. prop. = 3)7.8=2¢ | HAdepp =
4 a=-259 Dmul pap. = 1) 39=% 1) Div Prp =
| 3Yez 38 5)S\|mm.m

3) The formula for the perimeter P of a rectangle with length, |, and width, w, is P = 2( + w). The perimeter of a
rectangle is 9.5 feet and the width is 1.25 ft. Solve the equation for | and justify each step.

Statements ReQSOnS
)P 1(wa) p= ‘15 w=12 1) Given
2) 9.5= Q_(L-H?_S) 12) swost. prop =
3)q5=2L+25 | 3)Dist Pop.
4)7=2L 4) Sulot. Prpp =
.'wzn iat:)tic’:éaé?dinlﬁfy the property tha?jt?s.tiflizs‘ :;ch sEa\:(}age n-:
4) m=n,son=m 5) 2ABC = £ABC 6) KL = LK
Symmetvic reflexive reflexive

prop. prop. pYop.

Directions: Write a justification for each step.
8) Given:M-=N=10;M=2x—-5 N=-x+6

M-N=10 Given
(2x=5) = (~x+ 6) = 10 Suostifution
2x=5+x—6=10 Dist. 'ngp.
3x~11=10 Comiaine 1€ yerms
3x=21 A 0d -P-’DP =

R=7 Puv. ?W)P =

7)) p=q&qg=3,50p=3
+ransitive

Prop.



Directions: Complete each proof.

9) Given: 3x—-2y =12

21

10) Given: 7 = 3
SP‘FFE\E*J;YE\&(-‘\—S \RQO.SOr\S pm"f_‘é,faz}sren"rs \ QM
) 2x-2y=\2 |1 Gwen ) 1% Y \ 1) 6iven
2) -2y=-3%4\2 [2)SUOT. PP = 2) 2)=2x-) 2) Mtk Pp =
3)y= 2x-,  [®)div. pop = 3) 2272x 3) Adld Prop =
H) 1l =X t'—t) Div. Prop =
11) Given: 5(x —4) = 3x=-36 12) Given: 2L+ 2w +2h=A
Prove: x = -8 ‘ R Prove:w=§——£—h
Statements 2005 Staremends | Reasons
1)5()(—4)"?;)(.:-3'- ‘) 61\!{"\ l)?.,LJfZW""Zh:A 061\[6\’1
2) 5x-20 -3x=-3b 2) Dist. RLP 2) W= A-2h-2\n 2) sulot. prop. =
3) 2% -20=-30 |3)Combne like S)w=Z-L-\|3) Div prop =
terms 2
4) 2x =-lb ) Add Prop = £
) x=-8 |S)DwW. Prop =

13) Given: A and 4B are vertical angles,
mzA = (12x - 38)°, & m«B = (8x + 6)°
Prove: mzA = 94°

Stotements | Regsons
AT LR vert, | D) Given

LA (12-3%)".

Wmed =z (Bx+e)

2)LAZLR 2)Ver . L's ave?
Dy A=mtd DD = L's

) |2x-38=8xFb |4) Subsh. prop- J
5)Ux-28=L  |5)Subt. Prop =
0) le’qq U)MO\ Prep =
1) %=\ 7)Div Prp =
) mia=(12:1-39) &) Sulo sy, prp =
D meAzq419) Simplity

14) Given: £C and £D are complementary 2's,
m<C = (4x—10)°, & meD = (2x + 34)°

Prove: mesD = 56°

Starements |

ReasonsS

1) LCEL D Qre (omp Ls;
MLC(4%40)°) mLd=(7xs3

2)nLC fmLD=G0"
3) 40 + 234 =90

) (% +24=90
5) bx = bl

L) x=1\
T)eLD= 2:\ £ 34
8)mLD = 506"

\3 Given
4y
2)del. comp. E'S

2) SubSY. prop.
y )(_om\ginc. like Yarm:

5) sulot. prop. =

b)div. pvop =
7)ﬂk\OS*PP'OP =

| 8) Simp\ify



